DATASHEET

rev. 00 - 00-00-0000

Screw for fixing HSC-HSL 40/60 brackets
for HCDB/HPCB slider

11110872 - 11110872BOX - 11110873
11110873BOX - 11110874 - 11110874B0OX
11110875 - 11110875B0OX - 11110876
11110876BOX - 11110877 - 11110877B0OX
11110878 - 11110878B0OX - 11110870

5,

11110870BOX
CODE STAFFA "HSC" STAFFA"HSL"
11110872 PANELS 30-32-34
11110872BOX PANELS 30-32-34
11110873 PANELS 30-32-34 PANELS 35-36-38
11110873BOX PANELS 30-32-34 PANELS 35-36-38
11110874 PANELS 35-36-38 PANELS 40-42-44
11110874BOX PANELS 35-36-38 PANELS 40-42-44
11110875 PANELS 40-42-44 PANELS 45-46-48
11110875B0OX PANELS 40-42-44 PANELS 45-46-48
11110876 PANELS 45-46 PANEL 50
11110876BOX PANELS 45-46 PANEL 50
11110877 PANELS 48-50 PANEL 56
11110877BOX PANELS 48-50 PANEL 56
11110878 PANEL 56
11110878BOX PANEL 56
CODE
11110870 HMC - HML
11110870BOX HMC - HML

Tecnosystemi S.p.A. - Benefit Company | www.tecnosystemi.com
Via dell'lndustria, 2/4 - Z.. San Giacomo di Veglia 31029 Vittorio Veneto (Treviso) - Italy
Phone +39 0438 500 044 | Fax +39 0438501516

POWER 4/ T Tecnosystemi

1




ITEMS

CODE DESCRIPTION
11110872 SCREW TCEI M8x30
11110872BOX SCREW TCEI M8x30 - BOX 100 pcs
11110873 SCREW TCEI M8x35
11110873BOX SCREW TCEI M8x35 - BOX 100 pcs
11110874 SCREW TCEI M8x40
11110874BOX SCREW TCEI M8x40 - BOX 100 pcs
11110875 SCREW TCEI M8x45
11110875BOX SCREW TCEI M8x45 - BOX 100 pcs
11110876 SCREW TCEI M8x50
11110876BOX SCREW TCEI M8x50 - BOX 100 pcs
11110877 SCREW TCEI M8x55
11110877BOX SCREW TCEI M8x55 - BOX 100 pcs
11110878 SCREW TCEI M8x60
11110878BOX SCREW TCEI M8x60 - BOX 100 pcs
11110870 SCREW TCEI M8x20
11110870BOX SCREW TCEI M8x20 - BOX 100 pcs

Tecnosystemi S.p.A. - Benefit Company | www.tecnosystemi.com
Via dell'lndustria, 2/4 - Z.. San Giacomo di Veglia 31029 Vittorio Veneto (Treviso) - Italy

Phone +39 0438 500 044 | Fax +39 0438501516

POWER 4, 53 Tecnosystemi

ou
Photovoltic o
Fiing lements

2



http://www.tcpdf.org

